
1. Seite
Belső használatra !

Product.: Lang

I.

85600-067A

18400-247

9900-105A 6

II.

K3781  Scirocco
316152-016C

2. Seite

2. Seite

III.

5

4

2

I.

3

4

5

II.

IV.

IV.

5131-001B

5135-002A

M5x6 Hernyócsavar
2001-015

6536-001A

6536-002A

5131-001B

5135-002A

M5x6 Hernyócsavar
2001-015

5025-002A7

12 5311-116

2001-017
M5x8 Sf csavar

M5x6 Bkny hernyócsavar
2001-015

M8 Önzáró anya
2002-020

2003-008
M8 Alátét

III.



Product.: Lang

2. Seite
Belső használatra !

115633-029B

2003-020

2001-042

M6 Íves rugós alátét

M6x16 Df csavar

2001-015
 M5x6 Bkny
hernyócsavar

145833-023A

95611-066A

13 5311-252

5611-049 10

M8 Rugós alátét
2003-020

M8 Hl Anya
2002-007

16

15

1982-001

1982-011

151982-011

19 6611-109

175540-052
18 6611-004A

2002-003

2003-003
M5 Alátét

M5 Hl anya

16 1982-001

16 1982-001

161982-001

K3781  Scirocco



Product.: Lang

3. Seite
Belső használatra !

Lage des Feuerablenkvermiculit

Feuerraumauskleidung
(9900-778)

6081-282         2 Stück
6081-643         1 Stück
6081-644         2 Stück
6081-645         1 Stück
6081-646         1 Stück
6081-647         1 Stück
6081-648         2 Stück
6081-649         1 Stück

1. 11.
Reihenfolge:

309900-775

1.

21 6081-643

2.

256081-647

8.

22 6081-644

9.

23 6081-645

10.

22 6081-644

6.

246081-646

7.

299000-030

13.

20 6081-282

4.

266081-648

11.

27 6081-649

12.

20 6081-282

5.

28 5490-002

3.

K3781  Scirocco


